Name: _________________________________				Homework Week 1.8
Students have choice this week in their homework; choose ONE out of the four:
1. If you don’t complete a challenge, you must complete all problems on worksheet.
2. Choose one challenge math problems and complete 8 problems on worksheet
3. Choose two challenge math and complete 5 problems on worksheet
4. Choose three challenge math and complete 2 problems on worksheet
Use the following chart for questions 1-3
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1.  How long can the tail of a male Bengal Tiger be?
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2. How far can a kangaroo travel in 5 seconds? 



3.   The largest of all zebras is the Grevy’s zebra. A male Grevy’s zebra, on average, weighs 431 kilograms. The average female Grevy’s zebra weighs 386 kilograms. How much more does a male Grevy’s zebra weigh than a female Grevy’s zebra?



Solve:
4. 8 x 3 = (4 x 3) + (4 x ____) = ?


5. 3 x 13 = (3 + ___) = (3 x ___) + (3 x 3_ = ____



6. Give an example of each property:
a. Commutative Property of Addition:

b. Commutative Property of Multiplication:

c. Associative Property of Addition:

d. Associative Property of Multiplication:


7. Why isn’t there a Commutative or Associative Property of Subtraction or Division? Explain your answer:
________________________________________________________________________________
________________________________________________________________________________
________________________________________________________________________________
________________________________________________________________________________

8.  Frank wrote 3 x 6 to describe the total number of paper clips shown. Alexa wrote 6 x 3. Who is correct? Explain.
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________________________________________________________________________________
________________________________________________________________________________
________________________________________________________________________________
________________________________________________________________________________

9. 
10. 34 x 56

11.  87 x 76

12.  176 x 7

13.  598 x 8

14.  89 x 46

15. 762 x 9



Challenge Questions:
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CRrROss COUNTRY RACE

Problem

Alice, Belinda, and Clara were the three representatives for their school in a team
cross country race. Alice finished the race in middle position, Belinda finished after
Alice, in 19th position, and Clara finished 28th.

How many schools took part in the race?
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CuppLY WUDDLY TRIBE

Problem

A remote Pacific island is occupied by two tribes: the Cuddly-Wuddlies and the Nasty-
Wasties. They are utterly indistinguishable by appearance, but differ completely in
their character and live at opposite ends of the island. Cuddly-Wuddlies always tell
the truth and are reknowned for their kind hospitality, whereas Nasty-Wasties are
infamous for their compulsive lying and cannabilism; being especially partial to the
taste of visitors.

By the time you arrive the sun is already setting and being out so late is not a good
idea. You stand at a fork in the pathway: one direction heads to the Cuddly-Wuddly
village and the other leads to the Nasty-Wasty village. However, you don't know
which way to go.

A man is standing nearby and as you are in a hurry you have time to ask one simple
question.

What question could you ask to ensure that you receive correct directions to the
Cuddly-Wuddly village?
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COUNTING NINES

Problem

If you wrote all of the numbers from one to one-hundred on a piece of paper, 1, 2, 3,
4, ..., 99, 100. How many number nines would you write in total?
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COUNTING UP To ONE THOUSAND

Problem

A boy writes down the counting numbers from 1 to 20 in order and because each of
the numbers from 10 to 20 contain two digits he notes that he has actually written
down thirty-one digits in total.

i.. If his list went from 1 to 1000 how many digits would he have written down?
ii. If one-thousand digits were written down in total, how many complete numbers
would have been written down?
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